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1 Inequalities

1.1 Equivalent Inequalities

1.1.1 Example

For each pair of inequalities, determine if the two inequalities are equivalent. Explain your

reasoning.
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1.2 Solving a Linear and Nonlinear Inequalities.
1.2.1 Example

Solve the inequality 4z + 2 > 2+ 5z.
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1.2.2 Example

Solve the inequality (z + 2)(x — 2)%(z + 4)% > 0. Write your answer in interval notation.
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1.2.3 Example

Solve the inequality 22 + z > 12. Write your answer in interval notation.
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S the ineqiality ©2 + z > 12. Write your answer in interval notation.
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1.2.5 Example

1 4 . .
Solve the inequality —— > ——-. Write your answer in interval notation.
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Solve the inequality | — 2] + 3 < 6. Write your answer in interval notation.
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